Table 9. Bed Utilization by Facility, 2024							
Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC	
15 Craigside Retirement Residence							
SNF/ICF	45	15,860	33	480.6	96.56	43.5	
Adventist Health Castle							
Medical/Surgical	111	15,354	3,973	3.9	37.90	42.1	
Critical Care Unit (CCU)	8	1,763	459	3.8	60.38	4.8	
Obstetric	12	1,786	792	2.3	40.78	4.9	
Psychiatric (Acute)	29	7,943	1,545	5.1	75.04	21.8	
'Ai Pono Maui							
Special Treatment Facility (STF)	12	2,393	54	44.3	54.63	6.6	
Aloha House, Inc							
Special Treatment Facility (STF)	48	12,766	1,177	10.8	72.87	35.0	
Aloha Nursing and Rehab Centre							
SNF/ICF	141	36,360	508	71.6	70.65	99.6	
Ann Pearl Nursing Facility							
SNF/ICF	104	16,608	66	251.6	43.75	45.5	
Arcadia Retirement Residence							
SNF/ICF	91	28,126	126	223.2	84.68	77.1	
Avalon Care Center – Honolulu							
SNF/ICF	108	34,447	862	40.0	87.38	94.4	
Behavioral Health Crisis Center							
Special Treatment Facility (STF)	9	298	246	1.2	9.07	0.8	
Benchmark Behavioral Health System							
Special Treatment Facility (STF)	10	1,455	6	242.5	39.86	4.0	
Big Island Substance Abuse Council (BISAC) – Laukona							
Special Treatment Facility (STF)	8	1,563	126	12.4	53.53	4.3	
Bobby Benson Center							
Special Treatment Facility (STF)	30	3,307	78	42.4	30.20	9.1	

Table 9. Bed Utilization by Facility, 2024								
Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC		
Care Hawaii Emergency Shelter/Emergency Respite – Waipahu								
Special Treatment Facility (STF)	4	1,153	7	164.7	78.97	3.2		
Care Hawaii Licensed Crisis Residential Services – Hilo								
Special Treatment Facility (STF)	8	2,209	269	8.2	75.65	6.1		
Care Hawaii Licensed Crisis Residential Services – Honolulu								
Special Treatment Facility (STF)	16	4,093	468	8.7	70.09	11.2		
Care Hawaii Specialized Residential Services Population – Pearl City								
Special Treatment Facility (STF)	8	2,240	14	160.0	76.71	6.1		
Catholic Charities – E Hoʻoulu Hou Program Elua Facility								
Special Treatment Facility (STF)	6	817	1	817.0	37.31	2.2		
Clarence T.C. Ching Villas at St. Francis								
SNF/ICF	163	43,132	1,510	28.6	72.50	118.2		
Exclusive Hawaii Rehab								
Special Treatment Facility (STF)	8	2,670	89	30.0	91.44	7.3		
Garden Isle Healthcare and Rehabilitation Center								
SNF/ICF	110	26,770	215	124.5	66.67	73.3		
Habilitat, Inc								
Special Treatment Facility (STF)	150	44,640	126	354.3	81.53	122.3		
Hale Anuenue Restorative Care Center								
SNF/ICF	120	31,684	243	130.4	72.34	86.8		
Hale Ho Aloha								
SNF/ICF	59	20,525	83	247.3	95.31	56.2		

Table 9. Bed l	Jtilizatio	n by Faci	lity, 202	24		
Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
Hale Hoʻola Hamakua						
Acute/Long-Term Swing	11	2,071	118	17.6	51.58	5.7
SNF/ICF	66	22,257	119	187.0	92.39	61.0
Hale Kupuna Heritage Home						
SNF/ICF	84	17,145	28	612.3	55.92	47.0
Hale Makua Health Services – Kahului						
SNF/ICF	254	75,050	498	150.7	80.95	205.6
Hale Makua Health Services – Wailuku						
SNF/ICF	90	27,223	270	100.8	82.87	74.6
Hale Malamalama						
SNF/ICF	40	12,811	48	266.9	87.75	35.1
Hale Mohalu Hospital* (See note)						
Hansen's Disease	0					
Hale Nani Rehabilitation and Nursing Center						
SNF/ICF	288	96,597	1,288	75.0	91.89	264.6
Hale Ola Kino by Arcadia						
SNF/ICF	32	10,640	191	55.7	91.10	29.2
Harry and Jeanette Weinberg Care Center						
SNF/ICF	44	12,286	88	139.6	76.50	33.7
Hawaii Island Recovery						
Special Treatment Facility (STF)	8	2,430	54	45.0	83.22	6.7
Hawaii State Hospital						
Psychiatric (Specialty)	415	139,589	594	235.0	92.15	382.4
Hawaii State Hospital – State Operated Specialized Residential Program						
Special Treatment Facility (STF)	22	3,549	27	131.4	44.20	9.7
Hiki Mai Ka La						
Special Treatment Facility (STF)	8	541	16	33.8	18.53	1.5

Table 9. Bed Utilization by Facility, 2024								
Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC		
Hilo Benioff Medical Center								
Medical/Surgical	115	47,686	6,289	7.6	113.61	130.6		
Critical Care Unit (CCU)	11	3,766	926	4.1	93.80	10.3		
Obstetric	20	2,618	1,080	2.4	35.86	7.2		
Neonatal ICU	0							
Psychiatric (Acute)	20	2,444	476	5.1	33.48	6.7		
Skilled Nursing (SNF)	0							
SNF/ICF	52	17,150	42	408.3	90.36	47.0		
Hina Mauka								
Special Treatment Facility (STF)	64	17,952	408	44.0	76.85	49.2		
Hi'olani Care Center at Kahala Nui								
Skilled Nursing (SNF)	0							
SNF/ICF	60	21,209	49	432.8	96.84	58.1		
Hoʻomau Ke Ola								
Special Treatment Facility (STF)	16	3,167	103	30.7	54.23	8.7		
'Imi Ola Piha Homeless Triage Center								
Special Treatment Facility (STF)	8	1,821	253	7.2	62.36	5.0		
Islands Skilled Nursing and Rehabilitation								
SNF/ICF	42	12,828	89	144.1	83.68	35.1		
Ka Punawai Ola								
SNF/ICF	120	32,402	611	53.0	73.98	88.8		
Kahuku Medical Center								
Acute/Long-Term Swing	21	6,365	265	24.0	83.04	17.4		

Table 9. Bed Utilization by Facility, 2024								
Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC		
Kaiser Foundation Hospital								
Medical/Surgical	188	37,438	7,062	5.3	54.56	102.6		
Critical Care Unit (CCU)	30	5,271	1,243	4.2	48.14	14.4		
Obstetric	30	4,265	1,533	2.8	38.95	11.7		
Pediatric	18	1,410	371	3.8	21.46	3.9		
Neonatal ICU	20	3,621	283	12.8	49.60	9.9		
Skilled Nursing (SNF)	28	0	0		0.00	0.0		
SNF/ICF	0							
Kalakaua Gardens								
SNF/ICF	49	15,591	207	75.3	87.17	42.7		
Kalaupapa Care Home* (See note)								
Hansen's Disease	0							
Kapiolani Medical Center for Women and Children								
Medical/Surgical	30	3,228	487	6.6	29.48	8.8		
Critical Care Unit (CCU)	17	3,623	674	5.4	58.39	9.9		
Obstetric	66	14,221	5,469	2.6	59.03	39.0		
Pediatric	60	40,120	7,573	5.3	183.20	109.9		
Neonatal ICU	80	6,524	315	20.7	22.34	17.9		
Kaʻu Hospital								
Acute/Long-Term Swing	21	6,466	50	129.3	84.36	17.7		
Kauai Care Center								
SNF/ICF	53	16,434	112	146.7	84.95	45.0		

Table 9. Bed Utilization by Facility, 2024								
Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC		
Kauai Veterans Memorial Hospital								
Medical/Surgical	9	1,248	394	3.2	37.99	3.4		
Critical Care Unit (CCU)	2	528	217	2.4	72.33	1.4		
Obstetric	4	553	241	2.3	37.88	1.5		
Acute/Long-Term Swing	10	2,506	126	19.9	68.66	6.9		
SNF/ICF	20	7,183	15	478.9	98.40	19.7		
Kline-Welsh Behavioral Health Foundation								
Special Treatment Facility (STF)	123	41,975	223	188.2	93.50	115.0		
Kohala Hospital								
Acute/Long-Term Swing	25	5,673	100	56.7	62.17	15.5		
Kona Community Hospital								
Medical/Surgical	67	19,157	2,443	7.8	78.34	52.5		
Critical Care Unit (CCU)	9	1,707	221	7.7	51.96	4.7		
Obstetric	7	866	433	2.0	33.89	2.4		
Psychiatric (Acute)	11	2,326	220	10.6	57.93	6.4		
Kuakini Geriatric Care, Inc								
Skilled Nursing (SNF)	40	10,520	363	29.0	72.05	28.8		
Intermediate Care (ICF)	127	29,299	111	264.0	63.21	80.3		
SNF/ICF	20	0	0		0.00	0.0		
Kuakini Medical Center								
Medical/Surgical	188	24,955	3,664	6.8	36.37	68.4		
Critical Care Unit (CCU)	24	2,107	22	95.8	24.05	5.8		
Acute/Long-Term Swing	0							
Kula Hospital								
Acute/Long-Term Swing	9	1,731	103	16.8	52.69	4.7		
SNF/ICF	105	34,391	70	491.3	89.74	94.2		
ICF/IID	9	3,293	0		100.24	9.0		

Facility Type of Beds Kulana Malama Skilled Nursing (SNF)	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC
	33					
Skilled Nursing (SNF)	33					
		11,240	22	510.9	93.32	30.8
Lanai Community Hospital						
Acute/Long-Term Swing	4	0	0		0.00	0.0
SNF/ICF	10	3,541	3	1,180.3	97.01	9.7
Leahi Hospital						
SNF/ICF	155	37,256	98	380.2	65.85	102.1
Tuberculosis (TB)	4	56	1	56.0	3.84	0.2
Legacy Hilo Rehabilitation and Nursing Center						
SNF/ICF	100	31,553	355	88.9	86.45	86.4
Life Care Center of Hilo						
SNF/ICF	252	81,720	336	243.2	88.85	223.9
Life Care Center of Kona						
SNF/ICF	94	18,196	239	76.1	53.03	49.9
Liliha Healthcare Center						
SNF/ICF	92	31,730	257	123.5	94.49	86.9
Maluhia Hospital						
SNF/ICF	158	30,019	105	285.9	52.05	82.2
Manoa Cottage Kaimuki						
SNF/ICF	27	9,297	18	516.5	94.34	25.5
Maui Memorial Medical Center						
Medical/Surgical	157	47,763	6,735	7.1	83.35	130.9
Critical Care Unit (CCU)	29	3,607	279	12.9	34.08	9.9
Obstetric	22	2,739	1,375	2.0	34.11	7.5
Psychiatric (Acute)	11	2,965	428	6.9	73.85	8.1
Maui Recovery						
Special Treatment Facility (STF)	8	1,790	60	29.8	61.30	4.9

Table 9. Bed Utilization by Facility, 2024								
Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC		
Maunalani Nursing and Rehabilitation Center								
SNF/ICF	100	31,837	457	69.7	87.22	87.2		
Molokai General Hospital								
Obstetric	2	22	20	1.1	3.01	0.1		
Acute/Long-Term Swing	13	679	115	5.9	14.31	1.9		
North Hawaii Community Hospital								
Medical/Surgical	26	5,135	1,170	4.4	54.11	14.1		
Critical Care Unit (CCU)	4	725	300	2.4	49.66	2.0		
Obstetric	5	756	432	1.8	41.42	2.1		
Nuuanu Hale								
SNF/ICF	75	25,080	191	131.3	91.62	68.7		
Oahu Care Facility								
SNF/ICF	82	27,933	392	71.3	93.33	76.5		
Pali Momi Medical Center								
Medical/Surgical	110	32,721	5,855	5.6	81.50	89.6		
Critical Care Unit (CCU)	8	3,088	433	7.1	105.75	8.5		
Palolo Chinese Home								
SNF/ICF	113	32,881	317	103.7	79.72	90.1		
Pearl City Nursing Home								
SNF/ICF	122	41,463	765	54.2	93.11	113.6		
Pearl Haven								
Special Treatment Facility (STF)	32	5,444	22	247.5	46.61	14.9		
Poʻailani, Inc – Kailua								
Special Treatment Facility (STF)	16	4,329	78	55.5	74.13	11.9		
Poʻailani, Inc – Kaneohe								
Special Treatment Facility (STF)	18	6,034	115	52.5	91.84	16.5		

Table 9. Bed Utilization by Facility, 2024								
Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss ions	- ALOS	Occup %	ADC		
Pu'uwai 'O Makaha								
SNF/ICF	93	21,555	86	250.6	63.50	59.1		
Rehabilitation Hospital of the Pacific								
Rehabilitation	82	22,053	1,272	17.3	73.68	60.4		
Samuel Mahelona Memorial Hospital								
Psychiatric (Acute)	9	1,263	207	6.1	38.45	3.5		
Acute/Long-Term Swing	5	59	3	19.7	3.23	0.2		
SNF/ICF	66	17,077	16	1,067.3	70.89	46.8		
Shriners Hospitals for Children – Honolulu								
Children's Orthopedic	24	1,067	141	7.6	12.18	2.9		
Straub Benioff Medical Center								
Medical/Surgical	140	41,951	6,348	6.6	82.10	114.9		
Critical Care Unit (CCU)	19	6,098	1,138	5.4	87.93	16.7		
The Care Center of Honolulu								
SNF/ICF	182	62,509	714	87.5	94.10	171.3		
The Ohana Addiction Treatment Center								
Special Treatment Facility (STF)	8	2,090	87	24.0	71.58	5.7		
The Queen's Medical Center – Kahi Mohala								
Psychiatric (Specialty)	88	9,882	295	33.5	30.77	27.1		
The Queen's Medical Center – Punchbowl								
Medical/Surgical	429	150,289	20,067	7.5	95.98	411.8		
Critical Care Unit (CCU)	54	13,598	2,263	6.0	68.99	37.3		
Obstetric	25	3,634	1,690	2.2	39.82	10.0		
Psychiatric (Acute)	67	10,158	1,526	6.7	41.54	27.8		

Table 9. Bed Utilization by Facility, 2024								
Facility Type of Beds	Licensed Beds	Inpatient Days	Admiss- ions	ALOS	Occup %	ADC		
The Queen's Medical Center – West Oahu								
Medical/Surgical	94	37,821	7,979	4.7	110.23	103.6		
Critical Care Unit (CCU)	10	2,051	579	3.5	56.19	5.6		
Obstetric	0							
The Salvation Army Addiction Treatment Services								
Special Treatment Facility (STF)	66	12,235	617	19.8	50.79	33.5		
The Salvation Army Family Treatment Service	es							
Special Treatment Facility (STF)	61	3,645	52	70.1	16.37	10.0		
Wilcox Medical Center								
Medical/Surgical	59	14,192	2,650	5.4	65.90	38.9		
Critical Care Unit (CCU)	7	1,573	416	3.8	61.57	4.3		
Obstetric	6	806	417	1.9	36.80	2.2		
Acute/Long-Term Swing	0							
Yukio Okutsu State Veterans Home – Hilo								
SNF/ICF	95	22,256	100	222.6	64.18	61.0		

Note:

⁽¹⁾ A blank cell () indicates data not available.

⁽²⁾ Hale Mohalu Hospital: Since April 1, 2023, the 14 SHPDA approved Hansen's Disease beds at the Hale Mohalu Hospital has no longer been licensed beds by the Office of Health Care Assurance (OHCA). The bed utilization data for the year 2024 was not collected.

⁽³⁾ Kalaupapa Care Home: Since April 1, 2023, the 5 SHPDA approved Hansen's Disease beds at the Kalaupapa Care Home has no longer been licensed beds by the Office of Health Care Assurance (OHCA). The bed utilization data for the year 2024 was not collected.